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1. The test booklet contains total 100 questions. Each question carries 1 (one) mark.
USTUS H ol 100 U © OAT YD U 1 3P & 5 |

2. Candidates shall be required to attempt all 100 questions.
9 100 U3 B PR ATE § |

3. No negative marking.
FOMHASD 3idh T T8l o |

4. On receipt of test booklet, the candidate should immediately check it and ensure that it
is complete in all respect. Discrepancy, if any, should be reported by the candidate to
the invigilator within 10 minutes of receiving the test booklet.
B g9 gdbelc UK BRd &1 Fa9 Ugel SHb GHol Y dol e H&T Sl R o, Al e
U3 H Py FfC AT Her—hel 8 Al qied Udderd $l Giod BRI |

5. The answer sheet is in the form of OMR answer sheet. Candidates should blacken the

circle corresponding to correct answer.
BE B W gl & Ik OMR ¥ H <9 ©| BF & Fal SR & PIAH Bl Hloll
YTt/ BTel U9 A TERT BIell HRAT B |

6. While answering each question, candidate should blacken OMR properly with HB
pencil or black ball pen as per instruction printed on the OMR sheet.
B Bl IR ad G99 OMR ¥e W & T <l &f &9 # I@d 8¢ T, 4l ufaal aferdr
BTl U9 A & Bl B BT BT & |

7.  For each question only one circle should be blackened. If more than one circle is found
marked, the question will be treated unattempted.
BIE Pl YD U BT SR U DI § B Blell X ol & | X T A 31D brel e
IR AT 98 SR el UGl ST |

8.  Candidate shall be required to deposit OMR answer sheet with the invigilator.
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The word ecology was coined by -
(A) Haeckel
(B) Odum
(C) Mishra
(D) Tansley

The name of bio fertilizer is -
(A) NPK
(B) Urea
(C) Vermi
(D) BHC
Compound responsible for depletion of
ozone layer -
(A) Hydrocarbon
B) CFC
(C) Organochlorines
(D) All of the above

Newspaper contains the following toxic
element -
(A) Cd
(B) Pb
(C) Mn
(D) Hg
Ozone day is on -
(A) 30 January
(B) 16 September
(C) 21 April
(D) 25 December

Biotic component of ecosystem is -
(A) Wind
(B) Fungi
(C) Water
(D) Light

Top carnivore is -
(A) Elephant
(B) Tiger
(C) Deer
(D) Frog
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DIl e BT TANT fha & g1 foeam
T —

(A) THA

(B) 3mrsH

(C) fasm

(D) =T

g SdRG BT A & —

(A) NPK

(B) IRa

(C) T

(D) BHC

NI IRA BT A€ B H B ANTH
PRE 7

(A) TESIHEA

(B) <TG

(OREINEICTING]

(D) TG wl

TR 9o § 4= fader 9« gar § —
(A) Cd

(B) Pb

(C) Mn

(D) Hg

NINIE! QQCH-I HATYT SITdl % -
(A) 30 STHeRI

(B) 16 fyawrR

(C) 21 W

(D) 25 feawR
qIRRIfIa) a1 &1 Wfdd Teh & —
(A) =ar

(B) PIH

(C) i

(D) YPHTA

Y AN B

(A) =i

(B) TR

(C) fexor

(D) #ed
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8. Who wrote the book “Flora Indica”? 8. “Flora Indica” & og® &—
(A) Razi, 1955 (A) TISN,1955
(B) Clarke, 1898 (B) T<TTh,1898
(C) Hooker, 1955 (C) Tax, 1955
(D) Jain, 1983 (D) @’:{I 1983

9. Project tiger was launched in the year - 9. Tolge TR B AT §3& el —
(A) 1972 (A) 1972 |
B) 1974 (B) 1974 |
(C) 1973 (C) 1973 |
D) 1975 (D) 1975 #

10. DDTis an/a - 10. 93 8 -
(A) Biodegradable (A) FrafSUSaa
(B) Non-degradable B) FH-feusda
(C) Not a pollutant (C) ugu® Tl
(D) Anti-biotic (D) TS
11.  Knock knee syndrome disease is due to - 11. <& =1 Rigd R @7 o8 —

(A) Sulphide (A) Hhlss
(B) Chloride (B) TIRSS
(C) Fluoride (C) q;ﬁ'q‘[g@r
(D) None of the above (D) G‘C@—cﬁ # A PE T8

12. During 1950 in Japan which chemical 12. 1950 ¥ STU= # e @S gared =

toxicity caused large scale damage - RGN qgin?ﬂ o —

(A) Zinc A) e
(B) Mercury (B) "I
(C) Lead (©) e
(D) Copper (D) PR

13. What is Superbug - 13, URET R & —
(A) Insect (A) e
(B) Virus (B) faur
(C) Bacteria (C) Gﬁ—crl'f{g
(D) All of the above D) ({q?j—qﬂ 9

14. Endangered animal species is - 14. JEURT SR Yolfadl &—
(A) Camel (A) BT
(B) Cow B) ™
(C) Crocodile (C) RS
(D) Cat (D) faceh
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Endangered plant species is -
(A) Neem
(B) Chandan
(C) Tulsi
(D) Peepal

The unit of intensity of sound is -
(A) Cannibal
(B) Centibel
(C) Degree
(D) Decibel

Which is a forest product?
(A) Wood
(B) Medicines
(C) Fruit
(D) All above

Friends of farmer are -
(A) Earthworms
(B) Insects
(C) Helminths
(D) None of the above

Which is an artificial fertilizer?
(A) Cow dung
(B) Urea
(C) Compost
(D) Vermicompost

Gas which is
greenhouse effect?
(A) Ozone
B) O
(©) COq
D) CO

Person who is associated with ‘Chipko

responsible for the

Movement’?
(A) S.L. Bahuguna
(B) Medha Patkar
(C) Baba Amte
(D) Anna Hazare
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JEUT US Forfodl g—
(A)

(B) @cd

(€) T

(D) dYOd

&g & gar feas ard S 28—
A) BfEa

B) ~feaa

(C) f&um

(D) SKFa

HIHAT I IUTE 27

(A) <TBS!

(B) Tarsdl

(C) o

(D) STFT TR

fPa ® TR ®IF 87
(A) @gam

(B) P

(C) &

(D) T 9 Bz A Bl
DI AT A IRS 77
(A) T BT MR

(B) IRa

C) @

(D) THIHHRT

R ARSI B ISR IC C R e
PR 7

(A) 3

(B) RIS

(C) CO

D) CO

U <=Ied | B ST 57

(A)
(B)
©
(D)

Iraxcllel SgioT
T gTeahR
EICIRCIE
SR IISNIN
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Function of ozone is-
(A) Obsorb sun’s UV radiation
(B) Protect from skin cancer
(C) Acts as a greenhouse gas
(D) All of the above

The fishes in pond ecosystem are -
A)
(B)
©
(D)

The ultimate source of energy is -
(A) Water
(B) Wind
(C) Earth
(D) Sun

Producers
Consumers
Decomposers

None of these

Excessive rainfall causes which disaster?
(A)
(B)
(C) Famine
(D) Floods

What is the role of light in plants?
(A) For respiration
(B) For Energy
(C) For excretion
(D)

Drought

Volcano

None of the above

Environment is made up of -
(A) Three elements
(B) Four elements
(©)
(D)
Water pollutants are -
(A) Heavy metals

(B)
©
(D)

One element
Five elements

Pesticides
Organic acid

All of the above
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23.

24.
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S BT B B—

(A) TR fHRON BT 3raenyol

(B) @ & HER A §9@

(C) W BSd & TRE B HRAT

D) s A 9l

Th drad & aiRRefdsl § aofertt e
§_

(A) JdIqdh

(B) ST

(C) 3IJUdgch

(D) s ¥ BIS TE

Sl BT IRH HId 28—

(A) U=

(B)

(C) &Rt

D) 3

D aul | B dTell JHAT HEAT
3

(A) &1

(B) IR ¥reT

©) &

(D) di¢

Gief § e BT T A BIaT 87
(A) 4 oe & forw

(B) Tl yga™ & forg

(C) SIuiA & forg

(D) s | B3 W 7L
TTaRoT feba deal & 97 27
(A) 3dd

B) 4 dd

(C) 1dd

(D) 5 d@

/1 § 9§ B 91 9 Uy 57
(A) I &g

(B) ®icAN®

(C) PrefId 3l

(D) Sudad |
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Soil erosion can be prevented by -
(A)
(B)
©
(D)

Overgrazing

Removal of vegetation
Shifting of soil
Afforestation

Bhopal gas tragedy occurred in -
(A) 1984
(B) 1985
(C) 1983
(D) 1961

Wildlife
operation in India in-
(A) 1965
B) 1972
(C) 1974
D) 1970

Protection Act came into

Pyramid of energy is always -
(A) Upright
(B) Inverted
(C) Circular
(D) Triangular

State of India which is most affected by
arsenic contamination?

(A) M.P.

B) UP

(C) W.B.

(D) Rajasthan

State of India which has dense forest?
(A) M.P.
B) U.P
(C) Bengal
(D) Rajasthan

Richter scale measures -
(A) Wind intensity
(B) Ocean depth
(C) Tidal waves
(D) Earthquake intensity
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29.

30.

31.

32.

33.

34.

3s.

HaT &ROT BT AT AhaT & —
(A) Af¥® =WE A

(B) gl ATe |

(C) ¥&T WIHRRI A

(D) TR |

qIaTel 9 gEe ®9 gs oi?
(A) 1984

(B) 1985

(C) 1983

(D) 1961

I ST HRET0T AR MR H $H9 AN

fopam Tar?

(A) 1965

B) 1972

(C) 1974

(D) 1970

Solt & RIS daa 81ar & —
(A) e

(B) ST

(©) TR

(D)  BrgsaR

HRA BT HIF AT T MRS a9
SgreT uRTa &7

(A) THYL

(B) 3.

(C) I

D) XIS
HRA & ®IF A I H Faifdd St
SATHT 87

(A) THYL

(B) Jau

(C) e

D) SR

Raex el AMUdT 8§ —

(A) EAT PI drgar

(B) YT TERTS

(C) R o

(D) Y DI <rerdr
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36. Which air pollutant is not released by 36. WPIF | a1g UgH® HICY AIgdhdl A Tal

motor vehicles? r@erar 27
(A) SO (A) SO,
(B) Flyash B) el
(C) Hydrocarbon (C) TTSSIPEA
(D) CO (D) CO
37. Sardar Sarovar dam is on the river - 37. WRER WK I fH9 94 W & —
(A) Ganga (A)
(B) Godavari (B) TeTa™T
(C) Mahanadi (C) He™ e
(D) Narmada (D) Her
38. The most polluted city of India is - 38. WRA &I A9 TQT AR RGN g —
(A) Delhi (A) feoel
(B) Lucknow (B) <ETSH
(C) Mumbai (C) 9w
(D) Kolkata (D) PrABT
39. Chemical present in tap water is - 39. gfl—ﬂ AT A U a6l gl | ORI ST
. ?
(A) Barium A) IR
(B) Chromium (B) PfTw
(C) Fluorine (C) Yo
(D) Chlorine D) FARA
40.  Atmospheric pressure is measured in - 40. dYAVSH @ BT AN © —
(A) Monometer (A) FArirex
(B) Barometer (B) SRR
(C) Tachometer (C) e
(D) Anemometer (D) THERCR
41. Main source of energy is - 41. ol & I HId T —
(A) Respiration (A) 999
(B) Photosynthesis (B) YT HIAYT
(C) Sunlight (©) Q:Ej CAR'EAED
(D) Carbohydrates D) m@w
42.  Part of earth and its atmosphere in which  42. Al & dRAvSH H & dlel I 9FT DI
organism live is - HEl orrar &, fored Sitg far &va € —
(A) Biosphere (A) Sig AUSH
(B) Biome (B) @™
(C) Biomass (C) g ¥R
(D) Biota (D) e
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Overgrazing results in - 43. 3G IRFE e &I GRMH Bl
(A) Soil erosion € -
(B) Productivity of soil (&) a1 &
(B) ¥aT &1 IcUTGhdl
(C) Both (A) & (B) (€) (A)3R B) 2
(D) None of the above (D) TTH A PIs T8
Fossil fuels and mineral resources are d44. SdaTed SUAT AT G-l Gl BT Hal
called - SITaT ® —
(A) Renewable (A) TdrERONY
(B) Non renewable (B) AR
(D) None of the above (D) = A B TE
Kaveri water dispute is between - 45. B S faare fd =0 & 99§ —
(A) India and Pakistan (A) YR TG urfre
(B) Punjab and Haryana (B) U9 Td sRamom
(C) U.P and Madhya Pradesh (C) I vd 77 yawr
(D) Karnataka and Tamil Nadu (D) Fed Td afiiel S
Tsunami is - 46. gIHI T —
(A) Type of wind (A) TAT BT Th UBR
(B) Cyclonic rain (B) THII Fadul
(C) Man-made disaster (C) HMapd JHaaT
(D) A destructive ocean wave (D) TS HETTR aRT Soll
energy
One of the endemic species of Indiais-  47. /9 & ¥ &9 I @< yonfa 9Ra #

(A)
(B)
©
(D)
One of the Biodiversity hotspot in India -

Asian elephant
Lion tailed macaque
Whales

Panda

(A) Pachmarhi

(B) Sundarban
(C) Western ghat

(D) None of them
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48.

qrar S 87

(A) URMETS B8R

(B) Rz 99 PP (=)

(C) =«

(D) TisT
f=forRad § 9 & A1 W 9Rd BT
W fafaear gfewie & —

(A) Tl

B) Jaxad

(C) uf¥= gre

(D) ST H F DS T
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49.

activities is called -

(A)
(B)
©
(D)

Forest cover in India -

(A)
(B)
©
(D)

Sound

Anthropogenic environment
Natural environment

Urban environment

Modern environment

50.
33%
21%
25%
51%

becomes hazardous noise 51.

pollution at -

(A)
(B)
©
(D)

Which of the following is the percentage

Above 30 dB
Above 80 dB
Above 100 dB
Above 120 dB

52,

of nitrogen in atmosphere?

(A)
(B)
©
(D)

In an ecosystem, bacteria are the -

(A)
(B)
©
(D)

Which of the following is related to

21%
78%
26 %
75%

53.
Secondary consumers

Producers

Decomposers

Primary consumers

54.

Silviculture?

(A)
(B)
©
(D)

Which of the following is an indicator of

Lakes
Hills
Forests
Rivers

5S.

air pollution?

(A)
(B)
©
(D)

Lichens
Algae
Cycas
Bryophytes
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AT T & HRT qufaRer 95 &1
Ped © —

(A) ATESIT ggTEaRoT

(B) UTHfdd qaaRo

(C) =&l yyfaRor

(D) 3MYFH gITER]

HRA P a9 ATSBTa Ffaerd —

(A) 33%

B) 21%

©) 25%

M 51%

§ﬁ, gfMeR® eafy § gRafdd g o
A)
B)

30 dB ¥ ST W
80 dB ¥ SITGT W
(C) 100 dB ¥ SgTaT W)
(D) 120 dB & RTET W
qITaROT § ATSSIS &l gfererd fohar

glar 87

A) 21%

B) 78%

(C) 26%

D) 75%

uiRRerfors o5 # Sfrarey g € —
(A) THR TO & I
B) SdCh

(C) 3JJUdcsd

(D) wrAfHE SYHTaRIT
Ricdihoer foa Twfad 27
(A) drld

(B) Usrs

(C) Sre

(D) HfeT

arg UGl P HAAD T —
NISIEC|

(B) ard

(C) wEged

(D) STATBICH
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Carbon monoxide poisoning can be cured
by -
(A)
(B)
(©)
(D)

Eating butter
Drinking lemon water
Consuming multivitamin tablet
Exposing the affected person to
fresh oxygen
Which of the following causes minimum
environmental pollution?
(A) Coal
(B) Hydrogen
(C) Diesel
(D) Kerosene
The maximum biological damage is
produced by -
(A) X-rays
(B) Betarays
(C) Gamma rays
(D) Alpharays
What does ozone layer absorb?
(A) Gamma-rays
(B) X -rays
(C) Infrared rays
(D) Ultraviolet rays
The term “green revolution” was coined
by -
(A)
(B)
©
(D)
Food chain and food web is made up of -
(A) Trophic levels
(B) Ecological niche
(C) Ecological community
(D) Community
Each stages of food chain is called a/an -
(A) Photon level
(B) Trophic level
(C) Phantom level
(D) Energy level

William Gaud
Charles Eldon
Eugene Odum
M.S. Swaminathan
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57.

58.

59.

60.
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BTd HFISITRITSS ® SeY Bl Sl
fopar 1 At ® —

A) T EE A

B) g U 9= |

(C) weIIeIfe el o |

(D) g SRS o 4

A9 HH YATIROT UGHUT BT & —
(A) I

(B) ESgIoH

(C) S

(D) B

qIH BH Sifdd JHA BT © —
(A) TRIFX
B) T
(C) drer=
(D) 3H—

IS RT RIT ARG T 27
(A) T
(B) TR
(C) 3raxad vt
(D) WRIETAT fopxot
"9 Ralege " &1 sord fed- fdar
oqT?
(A)
(B)

fafero s
e Vefs
(C) IoiA aireH
(D) THTH. WHEARE

HE o 3R e J9 fhad a1 7§ —
(A) 2Ifbd wR

B) uRRerfas Fad

(C) uRRerfae qqer

(D) g™

Qe STl (G o) & D AR0T Bl
TRIT BEd 87

(A) WIEH odd

(B) cif%h® ofad

(C) WeH odd

(D) wIfdd gt
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Any part of earth where life exists is 63.

called a -
(A) Population
(B) Community
(C) Ecosystem
(D) Biosphere

The correct pathway of energy flow inan  64.

ecosystem is -

(A) Producers — Carnivores —

Herbivores — Decomposers
(B) Producers — Herbivores —

Carnivores — Decomposers

(C) Herbivores— Carnivore

s —

Producers — Decomposers
(D) Herbivores — Producers —

Carnivores — Decomposers

In desert ecosystem the camel is -
(A) Producer
(B) Decomposer
(C) Primary consumer
(D) Secondary consumer

Coalis a -
(A) Non-renewable resource
(B) Renewable resource
(C) The reusable resource
(D) Water resource

Main source of solar energy is -
(A) Sun
(B) Plants
(C) Water
(D) Animals

Mining is done to extract -
(A) Mineral
(B) Soil
(C) Water
(D) Plants and Animals

65.

66.

67.

68.
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gedl &1 a1 fewd S8l Silad B w,
BEATT & —

(A) SHEET

(B) g™

(C) uRRerfaad d=

D) Shadsd

s gIRReIfd! d3 # il yare &1 |8
ARt B

(A) IACH — AAERI — ATHERI

— JUECH

(B) TAEH — IMHRERT — AR
— JUECH

(C) IMHERT — AR — IUGRd
— 3IECH

(D) IMHEERT — IATEH — AR
— JUECH

= wRRefaad 3 & Se & —

(A) SdIGh

(B) J3Udca

(C) Ui SUHIaRT
(D) fgde SuwTeT
DRI & —

(A) TFTAIHRONT FATEH
(B) IO R
(C) Y: T T
(D) T FEEH

AR Sl B g A 8-
(A) oI

B)

(C) umI

(D) SIMHER

T R de & fory SuanT fdhan
ST B—

A) "

B) fied

(C) i

(D) U AR U
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Acid rain is caused by -

(A)
(B)
©
(D)

SO; and NO»
O and H»
COz2 and NO;
Nz and H>O

The method to control environmental
pollution is -

(A)
(B)

©
(D)

Environmental awareness
Implementation of
environmental laws

Recycling and reuse of wastes

All of the above

World Environment Day is celebrated

on -
(A)
(B)
©
(D)

I** May

28" February
5% June

15%" March

In which year Wild Life Protection Act
was passed?

(A)
(B)
©
(D)

1970
1975
1972
1982

In decibel which pollution can be

measured?

(A)
(B)
©
(D)

Air
Soil
Water

Noise

74. Ranthambore National Park is situated

in -
(A)
(B)
(&)
(D)

[0106]

Maharashtra
Rajasthan
Kerala

Madhya Pradesh
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69.

70.

71.

72.

73.

74.

AT Iuf BT BRI B—

(A)
(B)
©
D)

SOz and NO>
Oz and H>
COz and NO;
N> and H>O

QRITERTT YGUUT Bl RIS dH= &1 fafdy
3

(A)
(B)
©
D)

qAfaRT & Ui STTReddn
QRITEROT BIIAI BT BIATI
HeR BT Gl 3R G IUINT
SENESISE]

e wafaRY feaq &9 9911 SIraT 272

(A)
(B)
©
(D)

193
28 AN

5 O
15 9

qigcs ol Ued= Ude fhg ad #
qTRd g3IT?

A)
(B)
©
D)

1970
1975
1972
1982

[ YR BT Uyl SRadel # 14T S
APl 87

(A) B

B) e

(C) uri

(D) eafs

RURRR TSI S hal Rerd 87
(A) HERTY

B) IoTRIA

(C) @ReT

(D) HFYURT
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Which is not an example of fossil fuel?
(A) Coal
(B)
©
(D)

What is the main raw material of biogas?
(A) Soil
(B) Water
(C) Bacteria
(D) Cow dung

Natural gas
Geothermal energy

Petroleum

Which of these is not a renewable source
of energy?

(A) Coal

(B) Water

(C) Wind

(D) Bio-gas

Which state is the largest producer of zinc
and lead in India?

(A) Gujarat

(B) Rajasthan

(C) Maharashtra

(D) Madhya Pradesh

Non-recyclable resource is -
(A)
(B)
©
(D)

Tron
Paper
Copper
Mica

The atmospheric layer in which we
breathe is -

A)
(B)
©
(D)

Thermosphere
Stratosphere
Ionosphere

Troposphere
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/=1 & & @9 91 Sihareq sud &1
JETEXT 27

(A)  PIIe

(B) "Pfasd T4

(C) —ardrg it

(D) ugiferH

RN BT T g R 22

A faed

(B) Gl

(C) dFRar

(D) I BT MR

39 | BIF AT Holl b AR
ITEe el 27

(A) I

(B) Gl

(C) =@

(D) IR

DI AT I IRT BT Fad g7 STl
ST &1 ITEH &7

(A) TSR

(B) IO

(C) ¥BRTS

(D) ¥IYSI

R gRTgRy S § —
(A) e
(B) BT

(C) dram
(D) ¥®H
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§_

(A) THRBHRR
(B) gHdY HSd
(C) STFARBIAR
(D) &M Asd
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India’s first National Park is -
(A)
(B)
©
(D)

Bandipur
Periyar
Kanha
Corbett

How many National
established in India till 19927
(A) 413
(B) 420
(C) 415
(D) 416

The correct food chain is -
(A)
(B)
(&)
(D)

What is the reason of competition on

land?
(A)
(B)

Light
Food
(C) Water
(D) Soil
Control of water cycle -
(A) Grass field
(B) Collector
(C) Forest
(D) Plants

Who is the ecological controller?
(A) Deer
(B) Elephant
(C) Tiger
(D) Chinkara
Total salinity of sea water is-
(A) 3t04%
(B) 10to12%
(C) 1t02%
D) 5t07%

parks

81.

were  82.

83.

Grasshopper— Frog— Snake
Grasshopper—Lizard—Peacock
Grasshopper —-Monkey— Lion
Grasshopper ->Goat— Lion

84.

85.

86.

87.
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(A) IR
(B) uRIR
(C) @r=l
(D) ide

YRA H 1992 96 # fhad IS e
qfud ge?

(A) 413

(B) 420

(C) 415

A) fed— Hed— dMU
B) fed— fBURAN— AR
©O) fed— dev— N
D) fed— 90— IR
godl R YiRAIRTar @l aclg —
(A) I

(B) il

(©) Grr

(D) fAer

SoTash BT fRiae B—

(A) =T

(B) Holdex

(C) ST

(D) drer

g4 & uRRerfas friae o= a1 872
(A) f&vor

(B) =it

(C) =R

D) ferT

% § Ul Aquidr & AT § —
(A) 394 %

B) 10912 %

€ 192 %

D) 5397 %
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Feed factors are made of -

(A) Only from plants

(B) Only from animals

(C) Only birds

(D) From the food chain animals
Biosphere preservation plan was started
in-

(A)

(B)

1976

1946
(C) 1986
D) 1966

National bird of India is -
(A)
(B)
(©)
(D)

Who is not a source of power among the
following?
(A) Coal
(B) Mine
(C) Petroleum
(D) Natural gas
Main source of water in soil is -
(A)
(B)
©
(D)

Peacock
Pigeon
Parrot
Owl

River

Rain

Canal
Underground

Soilis a............ natural resource.
(A) Organic
(B) Inorganic
(C) Mixed
(D) Biotic

Food web -

(A) Increases the stability of
ecosystem.
Decreases the stability of
ecosystem.
Does not affect stability.
None of these

(B)

©
(D)
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(A) el drel |
(B) adt ugRl A
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(D) s o9 & g A
SigHSe HRET AT Hd Yo Tg?
(A) 1976
(B) 1946
(C) 1986
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(A) ¥R

B) PLR

(C) drar

(D) e

=1 § ¥ I ol &1 SNd 81 27
(A) P

(B) @A

(C) gl

D) TR T

et # il &1 g SRa B

(A) &

B) TR

(C) P

(D) SHHE & 3SR BT G

pird FAE B |

qorar 2 |
giRRerfra d= @ Rerdr &1
Herar 2 |
(C) ReRAT W HIg THIT &l &l |

(D) ST A Py 7L

(B)
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Consumers are called -
(A) Reducers
(B) Detrivores
(C) Phagotrophs
(D) Autotroph

Producers are absent in-
(A) Photic region
(B) Abyssal zone
(C) Aphotic region
(D) Coastal region

Ozone layer is directly disturbed by -
(A) Automobiles
(B) Jetplane
(C) Factories
(D) None of the above

A fertile soil is likely to have pH value of-
(A) 3-4
(B) 6-7
©) 89
(D) 10-11

Who first correctly defined the ecology?
(A) Taylor
(B) Haeckel
(C) Tansley
(D) Odum

100. Pedology is the study of -

[0106]

(A) Locomotion in animals and

plants
(B) Soil
(C) Rocks
(D) Plant disease

9s.

96.

97.

98.

99.

SUHIHIT BT heald o |

(A) 3=l

(B) IURETERNY

(C) erard

(D) Uy

fomfar srguRera &

(A) TP & H

(B) 3Tt e H

(C) el &5 #

(D) T &= H

AT RT TR AT 9167 STl 8—
(A) ifeHETEd

B) Sic foue

(C) HRE™

(D) s W BIS TE

SUSITS, e &7 pH w19 8T 8—
(A) 34

B) 6-7

(C) 8-9

(D) 10—11

SHIiTol B RIS T&I A gl
fora €7

(A) TR

(B) Bhd

(C) =t

(D) <3sH

100. U= fhad Ugs § —

(A) THERT IR TSt BT =T
B) faed

(C) YeR

D) US B FN
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